

Unification of Multi Dimensional Generating Relations through a Bilateral Relation for Generalized Hypergeometric Functions

$$H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$$

B. Satyanarayana¹, Hassan Hadi Abed² and, Y. Pragathi Kumar³

^{1,2}Department of Mathematics, Acharya Nagarjuna University, Nagarjuna Nagar-522 510, A.P., India.

³Department of Mathematics, College Of Natural and Computational Sciences, Adigrat University,

Abstract: In 1993, Satyanarayana [8] has defined generalized hypergeometric functions through $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$ by using difference operator technique. In this paper we established unification of several multilateral generating relations of certain special functions has been established through a bilateral generating relation for generalized hypergeometric functions, $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$.

I. Introduction

In the present paper an attempt has been made to develop various multidimensional bilateral generating relations of certain special functions e.g. Pseudo Laguerre polynomial, Sister celine's polynomials, Hermite, Laguerre, etc., through a bilateral generating relation for generalized hypergeometric functions $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$. In

Satyanarayana [8] defined and studied the generalized hypergeometric function $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$ and also proved that

$$H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w) = \frac{(-\alpha)_n w^{-2n}}{n! \left(\frac{x}{w} - \mu - \alpha + 1\right)_n \left(-\frac{x}{w} + \mu + \alpha\right)_n} F_{q;1;0}^{p;2;1} \left[\begin{matrix} (a_p) : -n, \frac{x}{w} - \mu + 1, -\frac{x}{w} + \lambda; \\ (b_q) : 1 + \alpha - n, \dots; \end{matrix} \middle| \frac{x}{w}, w \right], \quad \dots \quad (1.1)$$

where $F_{q;s;v}^{p;r;u}(x, y)$ is double hypergeometric functions (see Srivastava and Karlsson [9, P.27(28)]). In particular, for

$$\lim_{w \rightarrow 0} \{e^x x^{2n} H_{n;\lambda;(a_p)}^{\alpha;\mu;(a_p)}(x, w)\} = L_n^{\alpha-n}(x), \quad \dots \quad (1.2)$$

where $L_n^{\alpha-n}(x)$ is the pseudo Laguerre polynomials.

In this investigation the author require the generalized Lauricella function of several variables Srivastava and Manocha [10, P.64 (18)].

$$F_{C:D^1;D^{(2)};\dots;D^{(n)}}^{A:B^1;B^{(2)};\dots;B^{(n)}} \left[\begin{matrix} [(a) : \theta^1; \theta^{(2)}; \dots; \theta^{(n)}] : [(b^1) : \phi^1]; \dots; [(b^{(n)}) : \phi^{(n)}] \\ [(c) : \varphi^1; \varphi^{(2)}; \dots; \varphi^{(n)}] : [(d^1) : \delta^1]; \dots; [(d^{(n)}) : \delta^{(n)}] \end{matrix} \middle| z_1, z_2, \dots, z_n \right]$$

$$= \sum_{m_1, m_2, \dots, m_n=0}^{\infty} \frac{\prod_{j=1}^A (a_j)_{m_1 \theta_j^1 + \dots + m_n \theta_j^{(n)}} \prod_{j=1}^{B^1} (b_j^1)_{m_1 \phi_j^1} \dots \prod_{j=1}^{B^{(n)}} (b_j^{(n)})_{m_n \phi_j^{(n)}}}{\prod_{j=1}^C (c_j)_{m_1 \varphi_j^1 + \dots + m_n \varphi_j^{(n)}} \prod_{j=1}^{D^1} (d_j^1)_{m_1 \delta_j^1} \dots \prod_{j=1}^{D^{(n)}} (d_j^{(n)})_{m_n \delta_j^{(n)}}} \frac{z_1^{m_1} z_2^{m_2} \dots z_n^{m_n}}{m_1! m_2! \dots m_n!} \quad \dots \quad (1.3)$$

II. The Main Result

We prove the following main bilateral generating relation:

$$\begin{aligned}
 I &= \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n [(1-(d'))]_{(\mu^1)_n} \dots [1-(d^M)]_{(\mu^M)_n} [(g^1)]_{(\eta^1)_n} \dots [(g^M)]_{(\eta^M)_n} H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w)}{[(\xi^\ell)]_n [(1-(b''))]_{(\lambda^1)_n} \dots [1-(b^M)]_{(\lambda^M)_n} [(h^1)]_{(\theta^1)_n} \dots [(h^M)]_{(\theta^M)_n}} \\
 &F_{C:D^1+H^1+F^1;\dots;D^M+H^M+F^M}^{A:B^1+G^1+E^1;\dots;B^M+G^M+E^M} \left[\begin{aligned} &[(\delta_A) : 1; \dots; 1] : [(b^1) - (\lambda^1)_n : t_1], [(g^1) + (\eta^1)_n : r_1], \\ &[(\gamma_C) : 1, \dots, 1] : [(d^1) - (\mu^1)_n : \phi_1], [(h^{(1)}) + (\theta^1)_n : \phi_1], \\ &[(e^1) : s_1]; \dots; [(b^M) - (\lambda^M)_n : t_M], [(g^M) + (\eta^M)_n : r_M], [(e^M) : s_M]; \\ &[(f^1) : v_1]; \dots; [(d^M) - (\mu^M)_n : \phi_M], [(h^M) + (\theta^M)_n : \phi_M], [(f^M) : v_M]; \end{aligned} \right]_{z_1, z_2, \dots, z_M} t^n \\
 &= F_{\ell+q+B^1+\dots+B^M+H^1+\dots+H^M+C+3;0,0,0,F^1,\dots,F^M}^{\sigma+p+D^1+\dots+D^M+G^1+\dots+G^M+A+1;1,1,1,E^1,\dots,E^M} \left[\begin{aligned} &[(\rho^\sigma) : 1, 1, 0, 0, \dots, 0], [-\alpha : 1, 1, 0, \dots, 0], [(a_p) : 0, 1, 1, 0, \dots, 0], \\ &[(\xi^\ell) : 1, 1, 0, 0, \dots, 0], [\frac{x}{w} - \mu - \alpha + 1 : 1, 1, 0, \dots, 0], \end{aligned} \right] \\
 &[1-(d^1) : \mu^1, \mu^1, 0 - \phi_1, 0, \dots, 0], \dots, [1-(d^M) : \mu^M, \mu^M, 0, 0, \dots, 0, -\phi_M], [(g^1) : \eta^1, \eta^1, 0, r_1, 0, \dots, 0], \dots, [(g^M) : \eta^M, \eta^M, 0, \dots, 0, r_M], \\
 &[-\frac{x}{w} + \mu + \alpha : 1, 1, 0, \dots, 0], [\alpha : 1, 1, 0, \dots, 0], [(b_q) : 0, 1, 1, 0, \dots, 0], [1-(b^1) : \lambda^1, \lambda^1, 0, -t_1, 0, \dots, 0], \dots, [1-(b^M) : \lambda^M, \lambda^M, 0, 0, \dots, 0, -t_M], \\
 &[(\delta_A) : 0, 0, 0, 1, \dots, 1] : [\frac{x}{w} - \mu + 1 : 0, 1, 0, \dots, 0], [-\frac{x}{w} + \lambda : 0, 0, 1, 0, \dots, 0], [\alpha : 1, 0, 0, 0, \dots, 0], \\
 &[(h^1) : \theta^1, \theta^1, 0, \phi_1, 0, \dots, 0], \dots, [(h^M) : \theta^M, \theta^M, 0, \dots, 0, \phi_M]; [(\lambda_C) : 0, 0, 0, 1, \dots, 1], \\
 &[(e^1) : 0, 0, 0, s_1, 0, \dots, 0], \dots, [(e^M) : 0, 0, \dots, 0, s_M] \quad \left. \begin{aligned} &tw^{-2}, tw^{-1}, -w, (-1)^{\phi_1+1} z_1, (-1)^{\phi_2+1} z_2, \dots, (-1)^{\phi_M+1} z_M \\ &[(f^1) : 0, 0, 0, v_1, 0, \dots, 0], \dots, [(f^M) : 0, 0, 0, \dots, 0, v_M] \end{aligned} \right] \\
 &\dots \quad (2.1)
 \end{aligned}$$

where $F_{C:D^1;D^{(2)};\dots;D^{(n)}}^{A:B^1;B^{(2)};\dots;B^{(n)}}(z_1, z_2, \dots, z_n)$ is Lauricella function of several variables Srivastava and Manocha [10,P.64(18)].

Prof of (2.1): To prove (2.1), we consider

$$\begin{aligned}
 I &= \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n [(1-(d'))]_{(\mu^1)_n} \dots [1-(d^M)]_{(\mu^M)_n} [(g^1)]_{(\eta^1)_n} \dots [(g^M)]_{(\eta^M)_n} H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w)}{[(\xi^\ell)]_n [(1-(b''))]_{(\lambda^1)_n} \dots [1-(b^M)]_{(\lambda^M)_n} [(h^1)]_{(\theta^1)_n} \dots [(h^M)]_{(\theta^M)_n}} \\
 &F_{C:D^1+H^1+F^1;\dots;D^M+H^M+F^M}^{A:B^1+G^1+E^1;\dots;B^M+G^M+E^M} \left[\begin{aligned} &[(\delta_A) : 1; \dots; 1] : [(b^1) - (\lambda^1)_n : t_1], [(g^1) + (\eta^1)_n : r_1], [(e^1) : s_1]; \dots; \\ &[(\gamma_C) : 1, \dots, 1] : [(d^1) - (\mu^1)_n : \phi_1], [(h^{(1)}) + (\theta^1)_n : \phi_1], [(f^1) : v_1]; \dots; \\ &[(b^M) - (\lambda^M)_n : t_M], [(g^M) + (\eta^M)_n : r_M], [(e^M) : s_M]; \\ &[(d^M) - (\mu^M)_n : \phi_M], [(h^M) + (\theta^M)_n : \phi_M], [(f^M) : v_M]; \end{aligned} \right]_{z_1, z_2, \dots, z_M} t^n
 \end{aligned}$$

By using (1.1) and (1.3) and writing (n+k) for n, we obtain

$$\begin{aligned}
 I &= \sum_{n=0}^{\infty} \sum_{k=0}^n \sum_{l_1=0}^{\infty} \dots \sum_{l_m=0}^{\infty} \frac{[(\rho^\sigma)]_{n+k} (-\alpha)_{n+k} [(1-(d'))]_{(\mu^1)_{(n+k)-\phi_{l_1}}} \dots [1-(d^M)]_{(\mu^M)_{(n+k)-\phi_{l_m}}} [(g^1)]_{(\eta^1)_{(n+k)+r_{l_1}}} \\
 &[(\xi^\ell)]_{n+k} (\alpha)_{n+k} [(b_q)_{k+r} (-\frac{x}{w} + \mu + \alpha)_{n+k} (\frac{x}{w} - \mu - \alpha + 1)_{n+k}} \\
 &\dots \dots [(g^M)]_{(\eta^M)_{(n+k)+r_{l_m}}} [(\delta_A)_{l_1+1_2+\dots+1_m} [(a_p)_{k+r} [(e^1)_{s_{l_1}} \dots [(e^M)_{s_{l_m}} (\alpha)_n (\frac{x}{w} - \mu + 1)_k} \\
 &[1-(b'')]_{(\lambda^1)_{(n+k)-t_{l_1}}} \dots [1-(b^M)]_{(\lambda^M)_{(n+k)-t_{l_m}}} [(h^1)]_{(\theta^1)_{(n+k)+\phi_{l_1}}} \dots [(h^M)]_{(\theta^M)_{(n+k)+\phi_{l_m}}} [(\gamma_C)_{l_1+1_2+\dots+1_m}
 \end{aligned}$$

$$\frac{(-\frac{x}{w} + \lambda)_r}{[(f^1)_{v_1} \dots (f^M)_{v_M} n! k! r! l_1! \dots l_M!]} (w)^{-2n-2k} (tw)^n (-w)^k z_1^1 \dots z_M^1 t^M (-1)^{k+\phi_1+ \dots + \phi_M + t_1 + \dots + t_M}$$

from this we get the result (2.1).

III. Applications

(i). By writing $A = C, (\delta_A) = (\gamma_C), (B^M) = 1, (G^M) = 1, (E^M) = u, (F^M) = v + 2, (D^M) = 0 = (H^M)$
 $(b_1^M) = 0, (\lambda_1^M) = 1 = (g_1^M) = (\eta_1^M), (e_u^M) = (a_u^M), (f_v^M) = (b_v^M), (f_{v+1}^M) = 1, (f_{v+2}^M) = \frac{1}{2},$
 $(t_M) = (r_M) = 1, (s_M) = (v_M) = 1$ in (2.1), we obtain a multidimensional generating relation for generalized hypergeometric function $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w)$ and the Sister celine's polynomials ([6, P.290(2)]).

$$\sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n}{[(\xi^\ell)]_n} H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w) f_n((a_u^1);(b_v^1);z_1) \cdot f_n((a_u^2);(b_v^2);z_2) \dots f_n((a_u^M);(b_v^M);z_M) t^n$$

$$= F_{\ell+q+M+3;0,0,0,v+2,\dots,v+2}^{\sigma+p+M+1;1,1,1;u,\dots,u} \left[\begin{matrix} [(\rho^\sigma):1,1,0,0,\dots,0], [-\alpha:1,1,0,\dots,0], [(a_p):0,1,1,0,\dots,0], \\ [(\xi^\ell):1,1,0,0,\dots,0], [\alpha:1,1,0,\dots,0], [(b_q):0,1,1,0,\dots,0], \\ [1:1,1,0,1,0,\dots,0], \dots, [1:1,1,0,0,\dots,0], [\alpha:1,0,\dots,0], [\frac{x}{w}-\mu+1:0,1,0,\dots,0], [-\frac{x}{w}+\lambda:0,0,1,0,\dots,0], \\ [1:1,1,0,-1,0,\dots,0], \dots, [1:1,1,0,0,\dots,0,-1], [\frac{x}{w}-\mu-\alpha+1:1,1,0,\dots,0], [\frac{x}{w}+\mu+\alpha:1,1,0,\dots,0], \\ [(a_u^1):1], \dots, [(a_u^M):1] \\ [(b_v^1):1], [1:1], [\frac{1}{2}:1]; \dots; [(b_v^M):1], [1:1], [\frac{1}{2}:1] \end{matrix} \right]$$

.... (3.1)

(ii). By taking $A = C, (\delta_A) = (\gamma_C), (B^M) = 1, (G^M) = (E^M) = (D^M) = 0 = (H^M) = (F^M) = 0$
 $(b_1^M) = 0, (\lambda_1^M) = 1, (t_M) = 2, z_M = \frac{-1}{4X_M^2}$ and $T = \frac{t}{\prod_{j=1}^M (2x_j)}$

in (2.1), we have a multilateral generating relation for generalized hypergeometric function $H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w)$ and the Hermite polynomial

$$\sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n}{[(\xi^\ell)]_n} H_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x,w) H_n(x_1) \cdot H_n(x_2) \dots H_n(x_M) T^M$$

$$= F_{\ell+q+3;0,0,0;0,\dots,0}^{\sigma+p+M+1;1,1,1;0,\dots,0} \left[\begin{matrix} [(\rho^\sigma):1,1,0,0,\dots,0], [-\alpha:1,1,0,\dots,0], [(a_p):0,1,1,0,\dots,0], [1:1,1,0,-2,0,\dots,0], \dots, \\ [(\xi^\ell):1,1,0,0,\dots,0], [\frac{x}{w}-\mu-\alpha+1:1,1,0,\dots,0], [-\frac{x}{w}+\mu+\alpha:1,1,0,\dots,0], \end{matrix} \right]$$

$$\begin{aligned}
 & [1:1,1,0,0,\dots,0,-2], \left[\frac{x}{w} - \mu + 1:0,1,0,\dots,0 \right], \left[-\frac{x}{w} + \lambda:0,0,1,0,\dots,0 \right], [\alpha:1,0,0,\dots,0] \\
 & \quad [\alpha:1,1,0,\dots,0], [(b_q):0,1,1,0,\dots,0] \\
 & \quad \left. \begin{matrix} M \\ T \prod_{j=1} (2x_j), -wT \prod_{j=1} (2x_j), w, \frac{-1}{4x_1^2}, \frac{-1}{4x_2^2}, \dots, \frac{-1}{4x_n^2} \end{matrix} \right] \\
 & \dots \quad (3.2)
 \end{aligned}$$

(iii). By writing $A = C, (\delta_A) = (\gamma_C), (B^M) = 1, (G^M) = 0 = (E^M) = (F^M), (D^M) = 1, (H^M) = 0, (b_1^M) = 1 + (\alpha_M), (d_1^M) = 1 + (\alpha_M), (\lambda_1^M) = (\mu^M) - 1, (\mu_1^M) = (\mu^M), t_M = 1 = (\phi_M)$ and $t = (-1)^M T$
 $(s_M) = (v_M) = 1$

in (2.1), we obtain a multilateral generating relation for generalized hypergeometric function and the modified Laguerre polynomials

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n (n!)^M}{[(\xi^\ell)]_n} H_{n;\lambda; (b_q)}^{\alpha; \mu; (a_p)}(x, w) L_n^{\alpha_1 - \mu_1^1}(z_1) L_n^{\alpha_2 - \mu_2^2}(z_2) \dots L_n^{\alpha_M - \mu_n^M}(z_M) T^n = \\
 & = e^{z_1 + z_2 + \dots + z_M} \\
 & F_{\ell+q+M+3:0,1,0;0;\dots;0}^{\sigma+p+M+1:1,1,0;\dots;0} \left[\begin{matrix} [(\rho^\sigma):1,1,0,0,\dots,0]:[(a_p):0,1,1,0,\dots,0], [-\alpha_1:\mu^1, \mu^1 0, -1, 0, \dots, 0], \dots, [-\alpha_M:\mu^M, \mu^M 0, 0, \dots, 0, -1], \\ [(\xi^\ell):1,1,0,0,\dots,0]:[(b_q):0,1,1,0,\dots,0], [-\alpha_1:\mu^1 - 1, \mu^1 - 1, 0, -1, 0, \dots, 0], \dots, [-\alpha_M:\mu^M - 1, \mu^M - 1, 0, \dots, 0, -1], \\ [-\alpha:1,1,0,\dots,0], [\alpha:1,0,\dots,0], \left[\frac{x}{w} - \mu + 1:0,1,0,\dots,0 \right], \left[-\frac{x}{w} + \lambda:0,0,1,0,\dots,0 \right] \\ \left. \begin{matrix} (-1)^M T, (-1)^M wT, w, -z_1, -z_2, \dots, -z_M \\ \left[\frac{x}{w} - \mu - \alpha + 1:1,1,0,\dots,0 \right], \left[-\frac{x}{w} + \mu + \alpha:1,1,0,\dots,0 \right], [\alpha:1,1,0,0,\dots,0], \dots \end{matrix} \right] \end{matrix} \right] \\
 & \dots \quad (3.3)
 \end{aligned}$$

(iv). By writing $p = q, (a_j) = (b_j), (j = 1, 2, 3, \dots, p)$ and applying limit as $w \rightarrow 0$ in (2.1), (3.1), (3.2) and (3.3), we obtain a bilateral generating relations and multidimensional generating relations for Laguerre polynomial and Sister celine's polynomials, Hermite Polynomials, modified Laguerre polynomial:

$$\begin{aligned}
 & \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n [(1 - (d^M))] (\mu^1)_n \dots [1 - (d^M)] (\mu^M)_n [(g^1)] (\eta^1)_n \dots [(g^M)] (\eta^M)_n L_n^{\alpha-n}(x)}{[(\xi^\ell)]_n [(1 - (b^M))] (\lambda^1)_n \dots [1 - (b^M)] (\lambda^M)_n [(h^1)] (\theta^1)_n \dots [(h^M)] (\theta^M)_n} \\
 & F_{C:D^1+H^1+F^1;\dots;D^M+H^M+F^M}^{A:B^1+G^1+E^1;\dots;B^M+G^M+E^M} \left[\begin{matrix} [(\delta_A):1,\dots,1]:[(b^1) - (\lambda^1)_n : t_1], [(g^1) + (\eta^1)_n : r_1], [(e^1) : s_1]; \dots; \\ [(\gamma_C):1,\dots,1]:[(d^1) - (\mu^1)_n : \phi_1], [(h^1) + (\theta^1)_n : \phi_1], [(f^1) : v_1]; \dots; \\ [(b^M) - (\lambda^M)_n : t_M], [(g^M) + (\eta^M)_n : r_M], [(e^M) : s_M]; \\ [(d^M) - (\mu^M)_n : \phi_M], [(h^M) + (\theta^M)_n : \phi_M], [(f^M) : v_M]; \end{matrix} \right]_{z_1, z_2, \dots, z_M} t^n \\
 & \frac{1}{e^{x/2n}} = F_{\ell+B^1+\dots+B^M+H^1+\dots+H^M+C+1:0,0,0,F^1,\dots,F^M}^{\sigma+D^1+\dots+D^M+G^1+\dots+G^M+A+1:1,0,0,E^1,\dots,E^M} \left[\begin{matrix} [(\rho^\sigma):1,1,0,0,\dots,0]:[1 - (d^1) : \mu^1, \mu^1 0 - \phi_1, 0, \dots, 0], \dots, \\ [(\xi^\ell):1,1,0,0,\dots,0]:[1 - (b^1) : \lambda^1, \lambda^1 0, -t_1, 0, \dots, 0], \dots, \\ [(1 - (d^M)) : \mu^M, \mu^M 0, 0, \dots, 0, -\phi_M], [(g^1) : \eta^1, \eta^1 0, \eta_1 0, \dots, 0], \dots, [(g^M) : \eta^M, \eta^M 0, \dots, 0, r_M], \\ [1 - (b^M) : \lambda^M, \lambda^M 0, 0, \dots, 0, -t_M], [(h^1) : \theta^1, \theta^1 0, \phi_1 0, \dots, 0], [(h^M) : \theta^M, \theta^M 0, \dots, 0, \phi_M]; \\ [(\delta_A) : 0, 0, 0, 1, \dots, 1], [-\alpha:1,1,0,\dots,0], [\alpha:1,0,\dots,0], [(e^1) : 0, 0, 0, s_1, 0, \dots, 0], \dots, [(e^M) : 0, 0, \dots, 0, s_M] \\ [(\lambda_C) : 0, 0, 0, 1, \dots, 1], [\alpha:1,1,0,0,\dots,0], [(f^1) : 0, 0, 0, v_1, 0, \dots, 0], \dots, [(f^M) : 0, 0, 0, \dots, 0, v_M] \end{matrix} \right]
 \end{aligned}$$

$$t, -xt, (-1)^{\varphi_1+1} z_1, (-1)^{\varphi_2+1} z_2, \dots, (-1)^{\varphi_M+1} z_M \quad] \dots \quad (3.4)$$

where $L_n^{\alpha-n}(x)$ is pseudo Laguerre polynomial [6].

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n}{[(\xi^\ell)]_n} L_n^{\alpha-n}(x) f_n((a_u^1); (b_v^1); z_1) \dots f_n((a_u^M); (b_v^M); z_M) t^n \\ &= \frac{1}{e^x x^{2n}} F_{\ell+M:0,1,0,v+2,\dots,v+2}^{\sigma+M:1,0,0,u,\dots,u} \left[\begin{array}{l} [(\rho^\sigma):1,1,0,0,\dots,0]:[1:1,1,0,1,0,\dots,0], \dots, [1:1,1,0,0,\dots,0], \\ [(\xi^\ell):1,1,0,0,\dots,0]:[1:1,1,0,-1,0,\dots,0], \dots, [1:1,1,0,0,\dots,0,-1]; \\ [-\alpha:1,1,0,\dots,0], [\alpha:1,0,\dots,0], [a_u^1]:1, \dots, [a_u^M]:1; \\ t, -xt, (-1)^{\varphi_1+1} z_1, (-1)^{\varphi_2+1} z_2, \dots, (-1)^{\varphi_M+1} z_M \end{array} \right] \\ & [\alpha:1,1,0,0,\dots,0], [b_v^1]:1, [1:1], [\frac{1}{2}:1], \dots, [b_v^M]:1, [1:1], [\frac{1}{2}:1] \quad] \dots \quad (3.5) \end{aligned}$$

where $L_n^{\alpha-n}(x)$ is pseudo Laguerre polynomial [6].

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n}{[(\xi^\ell)]_n (n!)^M} L_n^{\alpha-n}(x) H_n(x_1) \dots H_n(x_M) T^n \\ &= \frac{1}{e^x x^{2n}} F_{\ell:0,1,0,0;\dots,0}^{\sigma+M:1,0,0;0,\dots,0} \left[\begin{array}{l} [(\rho^\sigma):1,1,0,0,\dots,0]:[1:1,1,0,-2,0,\dots,0], \dots, [1:1,1,0,0,\dots,0,-2], [-\alpha:1,1,0,\dots,0], [\alpha:1,0,\dots,0] \\ [(\xi^\ell):1,1,0,0,\dots,0]:[\alpha:1,1,0,0,\dots,0] \end{array} \right] \\ & \left[\begin{array}{l} T \prod_{j=1}^M (2x_j), -xT \prod_{j=1}^M (2x_j), \frac{-1}{4x_1^2}, \frac{-1}{4x_2^2}, \dots, \frac{-1}{4x_n^2} \end{array} \right] \dots \quad (3.6) \end{aligned}$$

where $L_n^{\alpha-n}(x)$ is pseudo Laguerre polynomial [6].

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{[(\rho^\sigma)]_n (n!)^M}{[(\xi^\ell)]_n} L_n^{\alpha-n}(x) L_n^{\alpha_1-\mu_1^1}(z_1) L_n^{\alpha_2-\mu_2^2}(z_2) \dots L_n^{\alpha_M-\mu_M^M}(z_M) T^n \\ &= \frac{e^{z_1+z_2+\dots+z_M}}{e^x x^{2n}} F_{\ell+M+1:1,0,0,0;\dots,0}^{\sigma+M+1:1,0,0,0;\dots,0} \left[\begin{array}{l} [(\rho^\sigma):1,1,0,0,\dots,0]:[-\alpha_1:\mu^1, \mu^1, 0, -1, 0, \dots, 0], \dots, [-\alpha_M:\mu^M, \mu^M, 0, 0, \dots, 0, -1], \\ [(\xi^\ell):1,1,0,0,\dots,0]:[-\alpha_1:\mu^1-1, \mu^1-1, 0, -1, 0, \dots, 0], \dots, [-\alpha_M:\mu^M-1, \mu^M-1, 0, \dots, 0, -1], \\ [-\alpha:1,1,0,\dots,0], [\alpha:1,0,0,\dots,0] (-1)^M T, (-1)^M xT, -z_1, -z_2, \dots, -z_M \\ [\alpha:1,1,0,0,\dots,0], \end{array} \right] \dots \quad (3.7) \end{aligned}$$

where $L_n^{\alpha-n}(x)$ is pseudo Laguerre polynomial [6].

Reference

[1]. Deepa Agrawal, A Pseudo Orthogonal Modified Version of Jacobi Polynomials, Ph.D. Thesis, Banaras Hindu University, Varanasi, 1992.
 [2]. M. Lahiri and B. Satyanarayana, A class of generalized hypergeometric functions defined by using a difference operator, Soochow J. Math.,19(1993), 163-171.
 [3]. M. Lahiri and B. Satyanarayana, Some generating functions for a class of generalized hypergeometric functions, Soochow J. Math., 20(1994), 359-363.
 [4]. M. Lahiri and B. Satyanarayana, Discrete and pseudo orthogonality for a class of generalized hypergeometric

- functions, Tankang J. Math. 28(1997),325-332.
- [5]. C.L. Parihar and V.C. Patel, On modified Jacobi polynomials, J. Indian Acad. Math., 1(1974),41-46.
- [6]. E.D. Rainville, Special Functions, Macmillan, New York,1960.
- [7]. M. R. M. Sarathi, A Study of Discrete Double Hypergeometric Functions, Ph.D. Thesis, Banaras Hindu University, Varanasi, 1993.
- [8]. B. Satyanaryana, Discrete hypergeometric functions defined by a difference operator technique, Thesis for the Degree of Doctro of Philosophy in Mathematics, Banaras Hindu University, Varanasi, 1993.
- [9]. H.M.Srivastava and P.W.Karlesson, Multiple Gaussian Hypergeometric Series, Halsted Press (Ellis Horwood Limited, Chichester) John wiley and Sons, New York,1985.
- [10]. H.M.Srivastava and H.L. Manocha, A Treatise on Generating Functions, Halsted Press (Ellis Horwood Limited, Chichester) John wiley and Sons, New York, 1984.